3 4 5 6 7 8
Parts List
ltem Qty Part Number Part Name Description
2 1 HFP-101997 03.03.03.08 Elevator Cam Roller Mild Steel machined A
~/mm N
o 70 (D'\
I 7
| _ B
[
S IS
(S £
2 =
1
Y —
C
D
] |
£ £
0 S \
E
Project Lo Assembly Drawing Size Scale Copyright Manchpt (Pty) Ltd - All Rights Resgn/ed. T_his
Spitfire VARIOUS A3 2:1 oraducing only ONE off Sptfre M I Cockpit It may not be
Document Type glgt):llljcnftt-:‘en(: %;:Tilsd =
MACHINE DRAWING FOR CONSTRUCTION
Title DWG No.
HERITAGE Mild Steel Machined HFD-100126 F
Rev. Date of Issue Sheet
| heritageflightsim.com 12 2019/11/29 113
3 4 | 5 | 6 7 | 8



2 4 5 6 7 8
Parts List
ltem Qty Part Number Part Name Description
3 1 HFP-102093 05.03.01.01.07 Seating Pin Machined M8x1.25 Threaded dowel A
A A
S
(S
o B
S NOTE: 2 OFF REQUIRED
E (05.03.01.01.07 & 05.03.02.01.07 SAME)
3
Y
I: M8X1.25 CLASS 6G RH
7.9mm c A C
E — - E
£ 0
[92] o
AN ~
- Al Y
‘ —_
= 1.5mm
£
0
@ 0
v
—
N ——
\¥/
\\_'//
~—~ —
—
N ——/
—
Project Lo Assembly Drawing Size Scale Copyright Manchpt (Pty) Ltd - All Rights Resgrved. T_his
Spitfire VARIOUS A3 2:1 oraducing only ONE off Sptfre M I Cockpit It may not be
Document Type gi@tﬁéﬁ%% =
MACHINE DRAWING FOR CONSTRUCTION
Title DWG No.
HERITAGE Mild Steel Machined HFD-100126 F
Rev. Date of Issue Sheet
| heritageflightsim.com 2 2019/04/05 2/13
| 6 7 | 8



2 4 5 6 7 8
Parts List
ltem Qty Part Number Part Name Description
4 1 HFP-102100 05.03.01.02.05 Port Spool Inner Machined Mild Steel
A
16.5mm NOTE: 2 OFF REQUIRED
(05.03.01.02.05 & 05.03.02.02.06 SAME)
22mm o
~"1 ’
| |
E | |
~ | |
| | I
| |
LT
12mm o
B 10mm o c
Cb@& M8X1.25 CLASS GRH
o)
D
42mm
E
Project L Assembly Drawing Size Scale Copyright Manchpt (Pty) Ltd - All Rights Resgrved. This
Spitfire VARIOUS A3 2:1 Eroducng oy ONE off Spiie M i Cockpit I may nt be
Document Type giztﬁ;i%;%foﬂ-
MACHINE DRAWING FOR CONSTRUCTION
Title DWG No.
“ERITAGE Mild Steel Machined HFD-100126 F
; L g bl Rev. Date of Issue Sheet
| heritageflightsim.com 2 2019/04/05 3/13
2 4 | 5 | 6 7 | 8



2 3 4 5 6 7
Parts List
ltem Qty Part Number Part Name Description
5 1 HFP-102101 05.03.01.02.06 Port Spool Outer Machined Mild Steel A

13.5mm

16mm

M8X1.25 CLASS 6H RH THROUGH HOLE

13.5mm

24mm

NOTE: 2 OFF REQUIRED
(05.03.01.02.06 & 05.03.02.02.07 SAME)

Project Assembly Drawing Size Scale Copyright Manchot (Pty) Ltd - All Rights Reserved. This
H ¥ . document is provided to the purchaser for guidance in
S pltfl re VARIOUS A3 2 . 1 producing only ONE off Spitfire Mk.IX Cockpit. It may not be

duplicated or sold on.

Document Type

MACHINE DRAWING

Document Status

FOR CONSTRUCTION

| heritageflightsim.com

HERITAGF Mild Steel Machined

Title DWG No.
HFD-100126 F
Rev. Date of Issue Sheet
2 2019/04/05 4/13

| 8

4 | 5 | 6



2 3 4 | 5 6 7 8

| Parts List
- 35.5mm -— ltem | Part Number Part Name Description
_ 24.3mm _ 9 |HFP-102164 | 06.03.14 Rear Latch Frame | Mild Steel Machined, Attach with
13mm 3.2mm rivets A
i I 1 -
_____ G) (*) {JP |
C T ] 1S
IS
S S
£ €l ©
gl = “ B
E I ——
5 = |___] {%} - 1
~ I— -1
| Y
2, =
2.5mm 2’3
—
Note : 2 OFF REQUIRED
(06.03.14 & 06.03.17 SAME) C
3.3mm | -
3.3mm ‘
! | | i
c | |
£ | |
o | |
\ | I
10.5mm | _ ’
IS I
— - S
(o]
o <
S 10.5mm - E
UE) — —
Lf). -
] ]
i | |
" ! ! " Project Lo Assembly Drawing Size Scale Copyright Manch&_)t (Pty) Ltd - All Rights Resgrved. T_his
Spitfire VARIOUS A3 2:1 oraducing only ONE off Sptfre M I Cockpit It may not be
Document Type gi@tﬁéﬁ%% =
MACHINE DRAWING FOR CONSTRUCTION
Title DWG No.
“ERITAGE Mild Steel Machined HFD-100126 F
: - Rev. Date of Issue Sheet
| heritageflightsim.com 2019/04/05 5/13
2 3 | 5 | 6 7 | 8



3 4 5 6 7 8
Parts List
ltem Part Number Part Name Description
1 HFP-102165B 06.03.15B Rear Latch Body Shaft Mild Steel Machined
2 HFP-102165A 06.03.15A Rear Latch Body Mild Steel Machined
ABmm‘ M8x1.25 RH B 14mm B
‘{ | ] LI | |
I | 1 I I
Il 1 [ [ e
| I 1 I I =
| I 1 I I <
| _ 4 1 I I =
=== i I
| 11 | \
B 10mm o
Note : 2 OFF ASSEMBLIES REQUIRED
(06.03.15 & 06.03.18 SAME)
47mm - 22.1mm S 10mm o
o 25mm | | o
4mm o -
4mm B Y
====3 ﬂ)@, \
g S | % i i
5 > 5 N ' '
° - | / S
:::::I'J g
E £
‘gl. ) )
N 9.3mm ol
18.9mm g
il i ve)
<
3.1mm
1 1 4mm Project Lo Assembly Drawing Size Scale Copyright Manchz_)t (Pty) Ltd - All Rights Resgrved. T_his
- - Spitfire VARIOUS A3 2:1 Brocucng orly ONE offSpfre Mk o ook ey ot be
Document Type gi@tﬁéﬁ%% =
MACHINE DRAWING FOR CONSTRUCTION
Title DWG No.
“ERITAGE Mild Steel Machined HFD-100126
: . Rev. Date of Issue Sheet
| heritageflightsim.com 2 2019/04/05 6/13
4 | 5 | 6 7 | 8




| 8

5 6 7
Parts List
Item Part Number Part Name Description
13 HFP-102454 08.02.10.06.01 Front Gate Machined Mild steel
o 3mm
— B
P ———
= a
~ NOTE: DRILL HOLES AFTER MATCHING UP WITH
P 08.02.10.01.05 Top Chassis Plate
o o
. w [¢)]
EY 3 3
3 3 3 c
5 AT
24.9mm
31.5mm
~ 9mm
D
e —— |
O
33/7707
E
\_
Project Lo Assembly Drawing Size Scale Copyright Manchpt (Pty) Ltd - All Rights Resgn/ed. T_his
— Spitfire VARIOUS A3 2:1 Eroducing only ONE offSpire M Corkpi.  may notbe
duplicated or sold on.
Document Type Document Status
MACHINE DRAWING FOR CONSTRUCTION
Title DWG No.
HERITAGE Mild Steel Machined HFD-100126 F
Rev. Date of Issue Sheet
| heritageflightsim.com 2 2019/04/05 7/13
2 | 5 | 6



3 5 6 7
Parts List
Item Part Number Part Name Description
14 HFP-102455 08.02.10.06.02 Rear Gate Machined Mild steel
o - 3mm

38.8mm

\M

NOTE: DRILL HOLES AFTER MATCHING UP WITH
08.02.10.01.05 Top Chassis Plate

29.1mm
Project Assembly Drawing Size Scale Copyright Manchot (Pty) Ltd - All Rights Reserved. This
H ¥ document is provided to the purchaser for guidance in
S pltfl re VARIOUS A3 2 1 pro;ucing L)nly OVII\IE off Spitfir: Mk.IX Cock;ilt. It ma)l/ not be

duplicated or sold on.

Document Type Document Status

MACHINE DRAWING FOR CONSTRUCTION
Title DWG No.
HERITAGE Mild Steel Machined HFD-100126
Rev. Date of Issue Sheet
| heritageflightsim.com 2 2019/04/05 8/13
2 3 | 5 | 6 | 8



3 4 5 6 7 8
Parts List
Qty Part Number Part Name Description
1 HFP-102462 08.02.10.08.02 Centre Bracket Rev1 Machined Mild steel
28.6mm o
21.5mm o
71mm Qﬂfé\
o <
o;?@ _ - 2.5mm
®
\( i ]
I
& £ -
w o
N . !
: il il
1 1 " 1 1
A
€
5.9mm B 12mm o £
I o 0
7.9mm o o~
13.2mm o
19.7mm
B 22.7mm o _ 1
28.6mm

2.5mm

12mm
8.6mm

Project Assembly Drawing Size Scale Copyright Manchot (Pty) Ltd - All Rights Reserved. This
H ¥ document is provided to the purchaser for guidance in
S pltfl re VARIOUS A3 3 1 producing only ONE off Spitfire Mk.IX Cockpit. It may not be

duplicated or sold on.

Document Type Document Status

MACHINE DRAWING FOR CONSTRUCTION
Title DWG No.
HERITAGE Mild Steel Machined HFD-100126
Rev. Date of Issue Sheet
| heritageflightsim.com 2 2019/04/05 9/13

3 4 | 5 | 6 7 | 8




3 | 5 6 7
| Parts List
ltem Part Number Part Name Description
16 HFP-101718 01.13.05.09 Aft Door Catch Mild Steel 25x25x5 Angle
- 5mm
22.3mm o
n N T
£ o - 4
£ I 7 G,
To)
S DS e
o \' 7 | El |5 £
™ ™ 3 N
&
_ '3,
B B I >
|
\ Al —
B 25mm o
Y
| |
l £
] £
| ok &
7 | €
S
= 2 1
g 1™ 7~ - = ~ ~
{ y, -7 S~
\,;Q/ V
5mm Project Assembly Drawing Size Scale Copyright Manchot (Pty) Ltd - All Rights Reserved. This

VARIOUS

Spitfire

A3

2:1

duplicated or sold on.

document is provided to the purchaser for guidance in
producing only ONE off Spitfire Mk.IX Cockpit. It may not be

HERITAGE

heritageflightsim.com

Mild Steel Machined

Document Type Document Status
MACHINE DRAWING FOR CONSTRUCTION
Title DWG No.

HFD-100126

Rev. Date of Issue

2 2019/04/05

Sheet

10/13

5 |

7 |




1 2 3 5 6 7 8
Parts List
Item Part Number Part Name Description
17 HFP-102051 05.02.02.04 Rod End Stbhd Mild steel machined
A
24mm
30mm —
\Y)
=
(
B
S
S
Its) _ R
o
N
\
S
v:')od‘
2
>
C
- 27.5mm
10mm
O
&
T D
|
| |
e
| | e
| |
I —
|
£
e’b,,) REPEAT FOR 05.02.02.05
E
Project L Assembly Drawing Size Scale Copyright Mancth (Pty) Ltd - All Rights Resgrved This
Spitfire VARIOUS A3 2:1 Eroducng oy ONE off Spiie M i Cockpit I may nt be
Document Type glgt):lll.lcr:teendTog;;zifon.
MACHINE DRAWING FOR CONSTRUCTION
7 5 Title DWG No.
“ER[TAGE Mild Steel Machined HFD-100126 F
Flight Simulation
= Rev. Date of Issue Sheet
heritageflightsim.com 2 2019/04/05 11/13
1 2 3 5 | 6 7 | 8



5 6
Parts List
Item Part Number Part Name Description
19 HFP-102055 05.03.03.04 Stud End Stbd Mild steel machined
A
- 40mm
I B
S
S
N
Q -
Y
C
D
REPEAT FOR 05.03.03.03
E
73mm
Project L Assembly Drawing Size Scale Copyright Manchpt (Pty) Ltd - All Rights Resgrved. This
Spitfire VARIOUS A3 2:1 Eroducng oy ONE off Spiie M i Cockpit I may nt be
Document Type giﬁtﬁi%;%jm
MACHINE DRAWING FOR CONSTRUCTION
Title DWG No.
“ER]TAGE Mild Steel Machined HFD-100126 F
L ) e Rev. Date of Issue Sheet
| heritageflightsim.com 2 2019/04/05

7 | 8

12/13



5 6
Parts List
Part Number Part Name Description
HFP-101966 03.02.05.04 Spacer Stbd Machined Mild Steel

A
7.3mm.
|

@ ®

REPEAT FOR 03.02.05.02
|
~ 145mm
C
D
HOLE THREADED FOR M3
E
Project Lo Assembly Drawing Size Scale Copyright Manchz_)t (Pty) Ltd - All Rights Resgrved. T_his
Spitfire VARIOUS A3 2:1 oraducing only ONE off Sptfre M I Cockpit It may not be
Document Type giztﬁ;ﬁ %;:Tcljlg =
MACHINE DRAWING FOR CONSTRUCTION
Title DWG No.
“ERITAGE Mild Steel Machined HFD-100126 F
Rev. Date of Issue Sheet
heritageflightsim.com 1 2 2019/11/29 13/13




	Sheets and Views
	Sheet2
	Sheet3
	Sheet4
	Sheet5
	Sheet6
	Sheet7
	Sheet8
	Sheet9
	Sheet14
	Sheet11
	Sheet1
	Sheet12
	Sheet13


